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SOlution
FRajeawv o
1Ey B abwu
WISy Suresh

Hence, Babu 1s sitting 1o the left of Mohan.
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Example 2:
Eleven students A, B, C, D, E, EG, H, I, ] and K are sitting in first line facing to the

teacher.

D who is just to the left of E is to the right of C at second place.

A is second to the right of E who is at one end.

] is the nearest neighbor of A and B and is to the left of G at third place.
H is next to D to the left and is at the third place to the right of L.

Who is just in the middle ?

Solution :

Hence, | 15 just in the middle.
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solution :
Teacher
E I fa 1 B I 5 _ H [ F

Hence, | 1S just In the middle.
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Example 3:

Siva, Sathish, Amar and Praveen are playing cards. Amar is to the right of
Sathish, who is to the right of Siva.

Who is to the right of Amar ?

Ssolution :

S athish

sSrmar Slva

Fraveganr

Hence Praveen 15 1o the rnght of Amar.
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solution :
Sathish
Smar Siv 3
Fravean
Hence Fraveen 15 1o the rnght of Amar.
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Example 4:

A, B and C are three boys while R, S and T are three girls.
They are sitting such that the boys are facing the girls.
A and R are diagonally opposite to each other.

C is not sitting at any of the ends.

T is left to R but opposite to C.

(A). Who is sitting opposite to B ?

(B). Who is sitting diagonally opposite to B ?
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Solutiomn :

. N I =

I =T po=sition —_— - —
_—-'___ - ___-__

= T .

I F. T =

IT nd position —_— - —
_-—'_-_ il ___-__

E - 2,

(A, Hence, R is sitting opposiie 1o B

(B). Hence. S is sitting diagonally opposite to B.
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PQR,S, TU, Vand W are sitting round the circle and are facing the
centre is second to the right of T who is the neighbor of R and V.

S is not the neighbor of P

V is the neighbor of U.

Q is not between S and W. W is not between U and S.

Explanation:
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Explanaticon:

L2
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2.Which one is immediate right to the V ?

Explanation:

T 1 immediate nght to the V.
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Which of the following is correct ?

EXplanation:
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1.A,BR, X, S and Z are sitting in a row. S and Z are in the

centre. A and P are at the ends. R is sitting to the left of A.

Who is to the right of P ?

XPiaAnation.

The seating arrangement is as follows:

- -, = £ F. o,

Theretore, right of P is X
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Explanation:

The sealting amangement 15 as Tollows:

H ., = £ . La]

Theretore, right of P 1s X
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2. A, B, C, D and E are sitting on a bench. A is sitting next to B, C
is sitting next to D, D is not sitting with E who is on the left end
of the bench. C is on the second position from the right. A is to
the right of B and E. A and C are sitting together. In which
position A is sitting ?

Explanation:

Theretore, Als siiting in between B and C.
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EXplanation:

E B A, . [

Theretore, A s siiung in between B and C.
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